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Question Number : 1 Question Id : 91394313284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Prime objective of using audio-lingual aids in a classroom is to keep students to develop :

Options:

o130435000;  2PEIng and punctuation skills



Listening and speaking skills
91394352202, 2

Reading and writing skills
91394352203, 3 ?

Vocabulary and grammar
91394352204, s

Question Number : 1 Question Id : 91394313284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

a1 3R fag-fa=m S

91394552201,

g S WTH0T ShigTeA

9133455220%.

T2 3R e e

2913394252203,

STl SR SR

91334552204,

Question Number : 2 Question Id : 91394313285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following is best instrument to evaluate quality or characteristics of a

learner ?
Options:

91334552205, Checklist

Rating Scale
91394352206,

il " T
91334552207, Invents s

91394352208, Rubrics

Question Number : 2 Question Id : 91394313285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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Options:

91394352205, B8 l
91394352206, gofi—ferior Tar

91334552207, j W
|: % -

91334552208,

Question Number : 3 Question Id : 91394313286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The growth, development and increased access to technology over decades have contributed

to learner characteristics in terms of using technology. Below are given two sets, please

match the generation as being popularly called based on birth year :
Set-1 Set - 11

(a) Born 1945 and before (i)  Generation Z
(b) Born 1946 to 1964 (i) Generation Y
(c) Born 1965 to 1976 (iif) Baby Boomer
( (
( (

d) Born 1977 to 1995 iv) Traditionalist

e)  Born 1996 and after v) Generation X

Options:

91334552209,

91394352210, (W) (@) (@) (@{Gv) (v)
91394352211, @ (v) (@ () (@v)

913345522172, (IL[) (IV) (l) (V) (LI'.)
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Options:

91394352209, (iv) () (v) (@) (1)
91394352210, (i) (1) (@) (@) (v)
91394352211, (1) (v) () (i) (iv)

2153394252212, (ILI'.) (IV) (l) (V) (I_I'.)

Question Number : 4 Question Id : 91394313287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is correct statement in relation to fishbowl style of classroom

layout ?
Options:

Students sit in “C’" shape formation with teacher at the centre.
91394352213,

Students are grouped together on small tables so that they can engage in small group

SR discussions

Some students sit close together in a circle in the centre of classroom while the rest of

students stand at the back of classroom and observe the group discussion.
91394352215



Students sit in horizontal rows so that they can clearly see each other but this does not

facilitate group discussion.
91394352216,
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Question Number : 5 Question Id : 91394313288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following is the apex institution in India working in the area of training

educational planners and administrators ?
Options:

215334252217,

SCERT

913345352218,

Ty L

91334552220, NCTE
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T H 3 AR

91334552217

T G g 3R A

91334352218,

91394352219, o1 AU T

WHIAT

B1334552220.

Question Number : 6 Question Id : 91394313289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T'he identification of a research problem involves

(a) Selection of the academic area

(b) Demarcation of the study area

(c) Rejection of personal and collective choices
(d) Specific topics within the area

(e) Management of financial sources

Code :

Options:

(a), (b) and (c)

2915334352221,

(b), (¢) and (d)

91334552222,

(a), (b) and (d)

91334552523,

(c), (d) and (e)

91334552224,
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Options:

(@), (b) ¥R (c)

91334552221,

(b), (c) 3R (d)

215394252222,

(a), (b) 3R (d)

91334552223,

(c), (d) 3TR (e)

91334552224,

Question Number : 7 Question Id : 91394313290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O

Participatory research is also described as :
Options:

150435000 INIVidual-based

Group-based
91394352226,

Communitv-based
91394352227, .

139435000y SO VErNMent-based
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gfauntt viry =1 =aren frafafaa § 9 g w9 § off 1 S 9ehdi 82

Options:

AT

215394252225,

G- AT

B1334552226.

e - AT

2153394352227,

TR - AT

B1334552228.

Question Number : 8 Question Id : 91394313291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the f(.‘:[[n:.‘swing is an incorrcet statement ?

Options:
Ex post facto research uses data that you collected before you came up with your
s1394352229 1Y POthesis

Archival research uses data collected and sometimes coded by someone else.
91394352230, .

S Observational methods are used in both correlational and experimental research.

Using a scatterplot to graph your correlational data will not tell you the direction of the

relationship (positive or negative).
91394352232,

Question Number : 8 Question Id : 91394313291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Correct Marks: 2 WrongMarks: 0
The advantages of secondary analysis in research are

(a) Itis inexpensive.

b) There is no need to construct a measuring instrument.

c¢) Data archives are a valuable source.

d) Useful opportunity is provided to produce valuable knowledge.
e) Provides less time to understand data.

Code :
Options:

(a), (), (d) and (e)

91334552233,

(a), (b), (c) and (d)

91334552234,

sigg4zsongs (D) {¢) and (e)

91394352236, (d) and (E) [.‘sn[};
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Correct Marks: 2 WrongMarks: 0
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Options:

@), (), (d) 3 (e)

913394552233,

(a), (b), (c) ¥R (d)

91334552234,

(b), (c) #R (e)

215394252255,

Faa (d) 3R (e)

913345522356,

Question Number : 10 Question Id : 91394313293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the type of validity with its major source of problem :

(a) Construct validity (i)  Faulty or poor measure, resulting in

mislabelling /misinterpreting behaviour
(b)  External validity (ii) Treatment and no-treatment groups were

unequal before the study began

(c) Internal validity (iii) Sample of participants was not representative
Code :
(a) (b) (o
Options:

913394552237, (l) (H) (LI!I)



@ ) G

215394252258,

i) (i)

913394552239, [:II_I'.) (

() (1) (i)

2153394252240,
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Correct Marks: 2 Wrong Marks: 0
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91334552237, (l) (Ll) (LL[)

91394352238, (l) (I_Ll) (I_[)

91334552239,

91334552240, (I_[) ([) (I_LI'.)

Sub-Section Number: 2
Sub-Section 1d: 913943673
Question Shuffling Allowed : Yes

Question Id : 91394313294 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label @ Comprehension



Read the passage carefully and answer questions from 11 to 15 :

The phrase “public diplomacy’ reflects multiple viewpoints and ideas and hence, does
not possess a unique, well-established conceptualisation. Yet, insimple words public diplomacy
is the influence of nation on foreign audiences. Public diplomacy may also be defined as
‘direct communication with foreign peoples, with the aim of affecting their thinking and
ultimately, that of their governments’. Hence, public diplomacy can be thought of as a process
of a nation listening and understanding the needs of other countries and communicating its
viewpoint to eventually build relationships. Public diplomacy is based on the identity and
reputation of a nation that is dictated by many factors : political, social, economic and
cultural. Trust has been highlighted as the most important factor necessary to initiate a
conversation, sustain a dialogue and build relationships. The focus on developing
relationships is also indicated in the definition of public diplomacy as ‘the process by which
direct relations are pursued with a country’s people to advance the interests and extend the
values of those being represented’. It is also highlighted that engagement and dialogue as
key indicators of developing relationships in public diplomacy. “Effective public diplomacy
is a two-way street with reciprocal influence on both the source and receiver involved in
the ongoing communication process”. The ongoing communication process leads to
developing lasting relationships with a foreign audience that bestows nations with soft power.
Soft power is an advantage in world affairs and incites admiration and respect in other parts
of the world. The soft power of a country is defined by three factors : its culture, political
values and foreign policies. All these factors primarily rest on its ability to shape preference
of others by using strategic communication skills. We must remember that public diplomacy
is not a public relations campaign, but to create on enabling environment for government
policies.

Sub questions

Question Number : 11 Question Id : 91394313295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Indentify the objective of public diplomacy.
Options:

Influence the nation
91394352241

Communicate directly with people
91394352242, “

Affect the thinking of foreign governments
91394352243,

Conceptualise national listening
91394352244,



Question Number : 12 Question Id : 91394313296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What factors impact the identity of a nation ?
Options:

3 Y g S, - . .
POO— Political, social, economic and cultural

" | .
913045355246, National reputation

‘Orele - .
srssgscem: TOPEIEN audience

i i deas
T Different ideas

Question Number : 13 Question Id : 91394313297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
Direct relations are necessary with a country to :
Options:

2 : : . 3
91394350249, Pursue vested interest

. -0 ication sourc
SR Influence the communication source

- - —] L" he .-_ L-!
SRR Advance the representative values

Highlight the key indicators
91394352252, : :

Question Number : 14 Question Id : 91394313298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
T'he ongoing communication process will provide :
Options:

Development of foreign audience
91394352253, >

S R & ’
1304350054 rdvantageous soft power

TR .
e, Admiration for other countries



)sition of ¢ ¢ S on o S
15043500 1IPOsition of cultural values on others

Question Number : 15 Question Id : 91394313299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What does the passage declare ?

a) Public diplomacy is not for indirect relations with other countries.
b) Public diplomacy builds relations with other countries.

c)  Trust is needed to sustain a dialogue.

(d) Strategic communication skills will help shape others” preference.
(e)  Public diplomacy is not public relations.

f) Soft power is not used to have a role in world affairs.

Code :

Options:

(a), (b), (c) and (d)

B1334552257.

(b), (d), (e) and (f)

91334552258,

(d), (e) and (f)

91394352259, (H)’

(b), (c), (d) and (e)

91334552260,

Question Id : 91394313294 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Question Numbers: (11to 15)
Juestion Label - Comprehension
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Options:

T2 ] GYTfad Ll

91334552241,

51394352242, 1T & H1Y gl Harg
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91334552245,
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9153394252244, i
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Options:

91334552245,

R e E=a

2913394252246, ™

faeei grarTo

91334552247,

fafy= fa=r

B1334552248.
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Options:
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913345522485,

HER o |4 ol 94Ifad & & fau

2153394252250,
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Options:

(a), (b), (c) 3R (d)

B1334552257.

(b), (d), (e) TR (f)

B139455225E.

(@), (d), (e) 3R (f)

91334552259,

(b), (c), (d) R (e)

215394252260,
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Correct Marks: 2 Wrong Marks: 0
Persuasive communication in a classroom intends to make penp[e accept a particu[ar :

Options:

srsgumossy  VOLORl THise



Verbal jugglery
91394352262, :

o PR Pl
srsmrese s POSIHON

91394552264, Disorientation

Question Number : 16 Question Id : 91394313300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:
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H1334552263.

B1394552264. ¥ i

Question Number : 17 Question Id : 91394313301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Effective communication inside the classroom leads to :
(a) Problem - solving strategies
(b) Intensive - knowledge
(c) Extensive - knowledge
(d) Uncontrolled discourses
(e) Vertical communication

Code :
Options:

(a), (b) and (c)

H1334552265.

(b), (¢) and (d)

H1Z334552266.



(c), (d) and (e)

2153394252267,

91394352268, (d), (e) and (a)
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Correct Marks: 2 Wrong Marks: 0
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Options:

(@), (b) ¥R ()

215394252265,

(b), (c) 3R (d)

91334552266,

(©), (d) 3R ()

B1334552Z67.

(d), (e) ¥R (a)

91334552268,
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Correct Marks: 2 WrongMarks: 0

Educational broadcasting suffers from the factor of :

Options:

Extended interactivity
91394352269 2

91394350070, Automated communication

1 i
et Attention span

Internal-external mmnnpn[\;
91394352272, /
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Correct Marks: 2 Wrong Marks: O
Assertion (A) : Questioning is a primary tool of classroom communication for teachers when

they lead discussions.

Reason (R) : Student learning is the major motive of teachers, made possible by questions

and answers.
Code :

Options:

91394352273, Both (A) and (R) are true.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394352274,

sy3sagemnrs W) 15 true, but (R) is false.

(A) is false, but (R) is true.

2153394252276,

Question Number : 19 Question Id : 91394313303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

_(A)a:‘fr{(R)aﬁH%?%|

91334552273

913345352274,

91394352275, (A) el g, I (R) Hel el gl

(A) H& & %, fohg (R) &l T

B1334552276.

Question Number : 20 Question Id : 91394313304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

When students and teachers involve in communication, the purposes are :
a) To develop professional working relationship.
b) To create a participatory environment in the classroom.

(c) To engage in out-of-classroom interaction.
(d) To seek teachers” intervention in personal matters.

e) To control teachers’ attitude towards students.

Options:

(a), (b) and (¢)

91334552277,

(a), (d) and (e)

91334552278,

(b), (c) and (d)

913345522739,

(c), (d) and (e)

91334552280,

Question Number : 20 Question Id : 91394313304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a), (b) 3R ()

91334552277,

(a), (d) 3R (e)

91334552278,

(b), (c) 3R (d)

91334552275,

(0), (d) 3R (e)

B12334552280.

Question Number : 21 Question Id : 91394313305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If HYDERABAD is coded as DABAREDYH, then BENGALURU will be coded as :

Options:

siasissseey RYPQRSTLIB

siggassengy  WUXURULCAB

91394350053, URULAGNEB

91394352284 BDEFGHIJK

Question Number : 21 Question Id : 91394313305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e HYDERABAD &I DABAREDYH % ¥4 H $ieag a1 W11 &, 9 BENGALURU 31 e #1
B ?

Options:

XYPQRSTUB
91394352281,

a1504352082, O N URULCAB

91394352283, URULAGNEDB

91394352284, BDEFGHIJK

Question Number : 22 Question Id : 91394313306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The next term in the number series 10, 13, 22, 49, ? ;

Options:
21394252285, 89

192
H1394552286. 126

C
H1334552287. 7

130
91394352288

Question Number : 22 Question Id : 91394313306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
10,13,22,49, _ 2 ki Gl H 3T 3§ I ¢
Options:

O
H1334552285. 89

91394352286, 126

21594252287, 97

L |
91394352288, 130

Question Number : 23 Question Id : 91394313307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The next term in the letter series EE, GG, 1], KN, MS, ?
Options:

00

B1334552259.

B13345522390. OY

913345522591, YO

XY

91334552282,

Question Number : 23 Question Id : 91394313307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U H@ger EE, GG, IJ, KN, MS, __ 2 H 37Tell Ug 21 :

Options:

91334552289, 00

’
913345522390, OY

913394552291, YO

s
913394552282, XY

Question Number : 24 Question Id : 91394313308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the word which is different from the rest :
Options:

91394352293, VVIile

Kn-:m-'[edye
91394352294, )

91394352295, Read

B13945522596, Learn

Question Number : 24 Question Id : 91394313308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e & faum wse =1 4 :

[SLERL

91334552253,

EIG!

913345522594,

B13245522595. ;

2153394252256,

Question Number : 25 Question Id : 91394313309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pointing to a woman, a man siad, “Her father is the only son of my father”. How is the man
related to the woman ?

Options:

Father-in-law of the woman
91394352297,

ey Father of the woman

91394352599 Brother of the woman

91394355300, Brother-in-law of the woman

Question Number : 25 Question Id : 91394313309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T Hfea i AR A L g T Ge9 A e, ' 35h Toar FY foa &F wF 9 gF 2§ 9% Y =9
Hfgen ¥ FY Fafyd ¢ 2

Options:

91334552297, HIgeTl bl Htj’{

_Fﬁwmﬁm

21394252258

B13345522995. [ia AT <l W[_QF

- Tfee 1 Fe-33-all

215394252300



Question Number : 26 Question Id : 91394313310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two premises (a) and (b). Four conclusions are drawn from them. Select
the code that states validly drawn conclusion(s) [taking the premises individually or jointly].

Premises : (a) All diamonds are precious stones.
(b)  Some carbon compounds are diamonds.
Conclusions :
i)  All precious stones are diamonds.
ii) Some non-carbon compounds are precious stones.
iii)  All precious stones are carbon compounds.
iv) Some carbon compounds are precious stones.
Code :
Options:

(i) and (iv)

91334552201,

91394352302, (i) and (1v)

T -
91334552203, (LLI) 2 11[}

(iv) only
91394352304, ‘

Question Number : 26 Question Id : 91394313310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ﬁﬁﬁraﬂaﬁaﬁa?a)ﬁr{(b)mﬂq%! T ¥ =R frepd freeel U ¥ 1 39 Fe w1 99 e S
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(iii) G SHTA Tee FTeA ATE L |

(iv) TS HTeA AT AT Fe2r T |
h<

Options:

(i) 3R (iv)

2915334252301,



(ii) 3R (iv)

91334552202,

Fa (i)

91334552203,

Fad (iv)

2915334252304,

Question Number : 27 Question Id : 91394313311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Validity in logical reasoning refers to :

(a) Any simple single proposition

(b) Relation between premises and conclusions
(c) The conclusion alone

(d) Truth of the premises

Select the correct code from below :
Options:

(a) and (b)

91334552205,

(b) and (c)

91334552306,

291334252307, (b) alone

(d) alone
91394352308,

Question Number : 27 Question Id : 91394313311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TereTia TE 1 duar efatea § 9 e Hefa €2
(a) IS A Tahdl fa=R

(b) STUREE AR FohY & &= oy

(c) heal ferd

(d) STHNEE i F=a1
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Options:




(a) 3R (b)

91334552305,

(b) 3 (c)

H1334552206.

e (b)

91334352207,

Had (d)

215394252308,

Question Number : 28 Question Id : 91394313312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In a valid deductive argument, if the premises are true, then :
Options:

--T } 2 L.‘. ] I..‘ I..‘ -
01594355500 Conclusion must be false

“onclusion can be probably ,
01594355510 Conclusion can be probably true

Grgsaan Conclusion must be true.

~onclusi P ivcs Ba S,
412394352312, (:_IL‘!I'I.L[LI":-IIZ]I'I ﬂ"lc'l} some bmes I_E_' rue

Question Number : 28 Question Id : 91394313312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fordT 9% fTATeHeR 9ek o afe STarETs Wer 8, o

Options:

91334552209, | ‘ -a:n % ['l

f=hy HYad: 99 B 9hd ¢ |

91394352310,
91394550511 1TERY SATAEA: F BT =1 |
91394352312, Ty -yl 9 8 9ehdl ¢ |

Question Number : 29 Question Id : 91394313313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identity the reasoning in the following argument :

“A person without a goal is like a computer without a program”.
Options:

Hypothetical

9153394252215,

s1394352314, Deductive

— Inductive

Analogical
91394352316,

Question Number : 29 Question Id : 91394313313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Trefafed qe § 9 qehwfe w1 gg=nu .
" AeTd AT TH Hel 1 a¥E ¢ forad s g 92 &l |

Options:

9153394252315,

91394350314, |V IHAICH®

HANTHATHS

21594252515,

SIFEEEEE
91394352316,

Question Number : 30 Question Id : 91394313314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Among the following statements two are contradictory to each other. Select the code that
represents them :

Statements :

(a) All judges are lawyers.

(b) Some judges are lawyers.

(c) Some judges are not lawyers.
(d) No judges are lawyers.

Code :

Options:



(a) and (b)

91334552217,

(a) and (c)

215394252518,

(a) and (d)

91334552219,

(b) and (d)

2123345522320,

Question Number : 30 Question Id : 91394313314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fau 7T FeHl H SH UF TR T §5IHF ¢ | 3= ([89d el & Sl FHAT :

(a) T =i g €
(b) FS AT aFTA € |
(c) FS AT THIA Te € |
(d) E =AY T TE ¢

(a) 3R (b)

91334552217,

(a) ¥R ()

913345352318,

(a) 3R (d)

91334552219,

(b) 3R (d)

91334552320,

Sub-Section Number: 4
Sub-Section 1d: 913943675
Question Shuffling Allowed : Yes

Question Id : 91394313315 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)



Cuesticon Label | Comprehension

) Number of classes taken by the teacher daily _
Name of the ) " | Remuneration
Teacher [On Monday, Tuesday and [ On Thursday and per class
Wednesday Friday
A 2 0 Z 5000
B 3 - T 8000
C 1 3 T 6000
D 2 2 < 4000
E 3 1 T 3000

The above table shows the number of classes taken by each teacher in different days of the
week and the remuneration per class per teacher. Saturdays and Sundays are holidays.
Based on the above data, answer the questions given below. One cell is empty and you may
need to calculate it depending upon the information available in the question.

Sub questions

Question Number : 31 Question Id : 91394313316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the total remuneration earned by teacher E in one week ?
Options:

91394352321 v 12,000

a1394352322. X 9,000

< 23,000
91394352323,

91394350324 % 33,000

Question Number : 32 Question Id : 91394313317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In one week, teacher B earned < 72,000. How many hours of classes did he take on Thursday
and Friday ?

Options:

91334552325, 0

1 hr. daily
91394352326, /



2 hrs. daily
91394352327, :

3 hrs. dailvy
91394252328, :

Question Number : 33 Question Id : 91394313318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The ratio of the total weekly earning of teacher A to the total weekly earning of teacher D
IS :

Options:

i
o

91334552329,

91394352330, O - 4

b
1%

91334552521,

L
oo

9133455253352,

Question Number : 34 Question Id : 91394313319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The total amount spent by the teaching institute for paying remuneration to all the teachers
for taking classes on Monday only is :

Options:

91394352333, 27,000

91394352334, < 05/000

91394350335 < /000

B1334552536. N 52,000

Question Number : 35 Question Id : 91394313320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assume that 4 weeks constitute a month. What will be teacher D’s earnings in a month ?

Options:

91394352337, © 160,000



91334552328

91334552359

91384552240

Question Id : 91394313315 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Number

< 40,000

< 1,20,000

< 16,000

s: (31to 35)

Cuesticon Label | Comprehiension

T91e7eR G ek ohedl ohi HE&Al -
Tterh &
TR, FEER 3 g9ar | TEaR 3 R RUICILED

A 2 0 Z 5000
B 3 " Z 8000
C 1 3 Z 6000
D 2 2 Z 4000
E 3 1 Z 3000

ST difctehl H Yook f1ereh §R1 9ware o Ster-fer faAl § off T2 shenedi iR ufa =i ufq forers
iafes &1 Seord foan 7 ¥ 1 wifer iR aem e & faq €
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Sub questions

Question Number : 31 Question Id : 91394313316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T gE H et E i A o g € -

Options:

91334552521

913345523272

91334552523

91334552324,

< 12,000

%9,000

% 23,000

< 33,000




Question Number : 32 Question Id : 91394313317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U T | e B T 72,000 AT foman | TEAR SR YERAR &1 394 fohde S et o 2

Options:
291394352325, 0

1 51 wfdafeq

215394252526,

Q1294252227 2 ‘Er'é: l
3 ¥¢ qfdfeq

91334552528,

Question Number : 33 Question Id : 91394313318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fo1ereh A 3T forerar D 511 Ft Aranfesk A 3T =61 3794 © ¢
Options:

91394350309, 2 - O

= e
91394350330 O - 4

3.4
91394352331, - -
91394352332

Question Number : 34 Question Id : 91394313319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FHIA QMHAR 1 Fefl o o dgel T i 1 o i1 Harawl & o foTg ¥1e10r T g1 =39 &
?—FIT@T%"
Options:

1394352333, < 27,000

91394352334, < 20000

H1334552535. T4 r‘?r“”U

91394352336, 1 22,000



Question Number : 35 Question Id : 91394313320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT Siifse fof T AR H 4 AR € | U "R H YR D i AfSa 31 2

Options:

< 1,60,000

91334552237,

a1394352338. X 40,000

91394352339, X 1,20,000

< 16,000

91334552240,

Sub-Section Number: 5
Sub-Section 1d: 913943676
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394313321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are Operating Systems ?

(a) UNIX (b) Ubuntu (c) Mac (d) Ada
Code:

Options:

Only (a) and